e Qe — 26.0.22

g | gt @1 e : 32 , 7,‘8\\°\W'

No. of Pages in Booklet : 32
gt # ugHl &1 | - 150
No. of Questions in Booklet : 150
Paper Code : 22

SUBJECT : Coach-Hockey

L.S-22

:
]
g.

£6000¢L
ON 19p{00g uonsang)

9T : 3.00 T AR dH 3d : 300
Time: 3.00 Hours Maximum Marks: 300

Paper-I1

7 gRaeT @ TR e/ difeE 3 @ wle W aderlt 98 gifRea wx o 5 e gRaer denm wen sigmak
TR-I3d X 3Hfhd IRPIS T & | T67 dig fA=ar &), O e daes & quR ye=-u3 ura & o | Yar gRea
T ot R apRft &t gt

On opening the paper seal/ polythene bag of the Question Booklet the candidate should ensure that Question
Booklet Number and Barcode of OMR Answer Sheet must be same. If there is any difference, candidate must

obtain another Question Booklet from Invigilator. Candidate himself shall be responsible for ensuring this.

et & fory fde INSTRUCTIONS FOR CANDIDATES
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¥ P O FHG E

10. 7 & we ¥ foel woR @ P GEOT AT RAHS THR
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ball point pen only.

7. 1/3 part of the mark(s) of each question will be deducted

for each wrong answer. A wrong answer means an incorrect
answer or more than one answers for any question. Leaving
all the relevant circles or bubbles of any question blank will
not be considered as wrong answer.

8. Mobile Phone or any other electronic gadget in the

examination hall is strictly prohibited. A candidate found
with any of such objectionable material with him/her will be
strictly dealt as per rules.

9. Please correctly fill your Roll Number in O.M.R. Sheet.

5 Marks can be deducted for filling wrong or incomplete Roll
Number.

10. If there is any sort of ambiguity/mistake either of printing or

factual nature, then out of Hindi and English Version of the
question, the English Version will be treated as standard.

Warning : If a candidate is found copying or if any unauthorized

material is found in his/her possession, F.IR. would be lodged
against him/her in the Police Station and he/she would liable to
be prosecuted. Department may also debar him/her permanently
from all future examinations.
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1. Which one of the following pair is not 1.
correctly matched?
(1) Pythian games — 586 BC
(2) Isthmian games— 580 BC
(3) Ancient Olympic games — 776 BC
(4) Nemean games — 573 BC

2. The inner layer of the heart is called - 2.
(1) Cardiovascular
(2) Pericardium
(3) Myocardium
(4) Endocarditis

3. Two statements are given — 3.
Statement I : Growth is a product of the
interaction both heredity &
environment.

StatementIT: Growth is quantitative
only.
Choose the correct option -
(1) Only statement I is correct
(2) Only statement II is correct
(3) Both statements are incorrect

(4) Both statements are correct

4. The oldest School of Philosophy in Physical 4.
Education is -
‘(1) Idealism
(2y Pragmatism
(3) Naturalism
(4) Realism

5. Reactive method is also called - 5.
(1) Depth Jumping
(2) Isotonic method
(3) Circuit Training
(4) Dynamic Concentric method

=1 4 |/ B SireT WE TRE ¥ Ad T8
HRAT?

(1) uEPRF ¥d — 58637,

(2) TR e — 5808,

(3) 9EH Sifys Wd — 776 £,
@ s @a — 5738,

TCY Bl IEAT UG Bl HET Wl & —
(1) TEIERT

2 WA

() TSI

@) USiersien

1 T iy g € —

wee [: giE SYEiRerar SR gRmERer
THT P WERER $T SR

Bl T
P II: gy Dad TRATTHAS Bl 2
& fadpey gy —

1) Dad FoH 19§
(2) waa FU I Wl
3) THI F Yo §

@ <N FeE EE
ANIRE e <we & wrdwas Reoremen
&

(1) erEEE

(2) vdFaR

3 wpldEE

@ JuRAER
wfiftrarers &Gt weendt & —
1) <o ST

() IRwciE Al

(3) =afha gf¥mwEr

@ fee s=0g [
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6. Which type of school record is service book? 6. wfdw Jead &6 THR &1 [enea sffere
BIT 87
(1) Finance Q) fo=
(2) Correspondence (2) TEER
(3) General @) W
(4) Educational @) I
7. In which type of competitions pre-planned 7. {59 USR P g %‘g’ RreR v
and systematic training cycle are used to @1 Wit & forw gd P 1d waeg o
achieve peak performance? Tp} HT SUANT BiaT &7
(1) Build up competition @) Pffe sRafag
(2) Main competition @ T= SR
(3) Competition frequency @) wREhfar sk
(4) None of them @ SR d Y o
8. Which register is not necessary for 8. UNIR® RET & oW @& foyu @i«
administration of Physical Education? W GG F 5] BY
(1) Register of intramural competition (1) IRECA TREAINET BT e
(2) Register of Physical measurement (2) TRRG AUT T WRER
(3) Stockregister @) wir W
(4) Vehicle register @) aeT PR
9. Transverse friction massage was first 9. IgURY =YY Wifersr WM SR fhEa R
demonstrated by - TeRia @&l Tg?
(1) Pehr Henrik Ling 1) U &R T
(2) Dr. Johann Georg Mezger (2) <. SEF e R
(3) Dr. James Cyriax (3) <l o wERvEd
(4) Dr. George Taylor @) < i der
10. Transition period aims at - 10.  EHA Bl Bl S € —
(1) recovery ) &gl
(2) recreation 2) TERSE
(3) super compensation @) IR BT
(4) stabilization of performance @) eI % ferar
22- ) Page 3 of 32
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11. “Physical education is a Fundamental Right of 11. “INIR® RBrer t&@e =fw @ Gt
every individual.” It can be seen in the Charter ARFER B, I8 59 o & Sqya ¥?
of - (1) TAEeS ngr?sﬁa argfefre
(1) UNES.C.O. TUS JeleRe ANHSRA
(2) M.HRD. @) T R Hre
3) WHO (3) fazg w@red Hied
T @) VR BR TN RIS JiiE
4) S.NIPE.S. ﬁ;ﬁ‘ﬂm i TUs
12. 'Who is not related to pragmatism? 12. @IF YoHaE I e 98 87
(1) William James @) fferaw s
(2) 1.J.Rousseau (2) SN, @€
(3) Charles Sanders Peirce R) A Ted e
(4) John Dewey (4) \_rﬁﬂ' @T:ﬁ
13. Fartlek training was first adopted in — 13. Bted URETT wEwE fFue gRT stiier
& T aor?
(1) USA ® IrEw
(2) England (2) Twve
(3) SWCC.].CII 3 Q;.ﬂ@;[
14. Three statements are given — 14. o9 P g 10 € —
Statement - I There are four Vice -1 SN, RGN Jvsd § TN
Presidents in IOC Executive IURTET B B |
Board. FeE-I N SRE Tved F 79
Statement - IT There are ten other members A U B 5
in I0C Executive Board. - SN, sHFR Aved 1920
Statement-III IOC Executive Board is ¥ 111%?[ ﬁ»‘en T
founded in 1920. ) £
Choose the correct option - el T — o &
(1) All three statement are correct 1) P
(2) Only statement I is correct @) ae HAT I ©
(3) Ouly statement IT and III are correct (3) uet woM I 9 I Wel §
(4) Only statement I and II are correct 4) oo P 19 I T8 &
15. Full form of EPOC s - 15. EPOC &7 gof Uy & —
(1) Extta Post Exercise  Oxygen 1) vsET URE URRYSY  Sifaior
Consumption Gavekin|
(2) Excess Post Exercise Oxygen 2) THRY URE URNEEY  Sifede
Consumption BT
(3 Extra Pre-enzyme Organic 3) W Mo I
Concentration HRICTE
(4) Electrochemical Promotion of Organic . .
: @) segE-SREEe vHRE offe e
Consumption T
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16. “Physical Education should aim at making the 16. “ZRIRE RIe &1 IL¥Y 750 B ANIRS,

child physically, mentally and emotionally fit AR T HdA® ©T ¥ Wl §997 T4

and also to develop in him personal and social fFTg g ARG IO B &SN R

others and builds a good citizen.” Who states FETAT Te 3T ARG BT AW B T [
is?

this? uE e o &7

(1) Ministry of Education and National
Planning for Physical Education and
Recreation

(2) Central Advisory Board of Physical
Education & Recreation

(3) Charles A. Bucher

(4) The National Plan of Physical

Education

Q) w¥RE Rrm &R wHRsw & fom

Q) wRRF e ok FReE F1 B
DR IS

(3) =ed U g

@ R REr o I Do

17. Which is not an important factor to be 17. U UgaM & g @Far Tewydl HR®

considered for talent identification? &I AT ST 27

(1) Age
(2) Socio-economical condition
(3) Performance and training state

{4) Peer group

1 g

) <l snlie el
(3) weg d SRET sEwr
@) IS W

18. 'Which one of the following is not a quality of 18, T/ # ¥ BF—w & fFmifas &1 o1 =&
official? 7

(1) Minute observation
(2) Knowledge of rules
(3) Proper uniform

(4) Excited and flexible

(1) & AgAET
(2) a1 I=

(3) SUE JeHN
@) ScaEr 3R T

19. Super compensation means - 19. YR HoeEE o oief g § —

(1) second wind

(2) fatigue

(3) adaptation to load
(4) oxygen debt

@y fedwe ag
(2 oBE

() ¥R Wt gl
4) 3fRIre For
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20. Match the following — 20. FEfeRaa o gaa sy —
(I  General (i)  Scholarship O G G  BER
Record register aferg e
(H) Educational (ii) Leave m '@'@Eﬁ (). S EEaE
Record register SRR e
(I Finance (ifi)  Sports U f afer  GE) ©F  wER
Record property R
- - regls'fcr' av) @ Gv) e IR
(IV) Maintenance (iv) Admission Rrre
Record register
Iom om W Lo
TR ome w o
@ @ O ® 0O @ @ G
@O @ @ v @ O @
@ Gv) @ @ @
21. Setting standards for any performance is the 21. & € wvm & forv a9 FeiRa oo
action to be done in phase of Management - y§ee @ TR0 § [T o 9ren R § —
(1) leading 1) wEH
{2) controlling () FriEe
(3) planning (3) droE
@) organizing @) ST
22. How many National Centres of Excellenceare 22, WA ol UIRIGRYT 51T e Soedr &
running by Sports Authority of India? TR B Tl o I &7
1 23 D 28
) 25 2) 25
3 23 3) 23
@ 21 @ 21
23, Two statements are given — 23. 1 % Ry g € —
Statement-I ~ Advance tactical FYI-1 BT uSYd uRE©r § S
knowledge is found in WREToT gy i |
high performance training. PUTI T URE ¥ R 99
Statement -II  Development of special TRt &7 e U Sl
coordinative abilities is 1
found in basic training. ﬂﬁ? _
Choose the correct option - ﬂ(i ma% A N
(1) Both the statements are correct @) daw w198 2
(2) Only statement I is correct 3 Bad s 2
(3) Only statement II is correct 3) 5 P £
(4) Both the statements are incorrect ) PAT Jeld
22- 1) Page 6 of 32




24.

25.

26.

27.

28.

29.

Rehabilitation is made intervention at level
of -

(1) Primary prevention

{2) Secondary prevention

(3) Territory prevention

(4) All options are wrong

Which one is not the disconnection about
Physical Education?
(1) Itis about building body.
(2) It has lot of job opportunity.
(3) Wastage of money only.
(d) It is only about the participation in
games.

“Personality is the sum total of the actual or
potential behaviour patterns of the organism”
is stated by -

(1) Eysenck

(2) Allport

(3) Morton Prince

(4) Watson

Scoliosis is a postural deformity related to -

(1) Heart
(2) Lungs
(3) Legs
(4) Vertebral column
Based on which Committee

recommendations, National Fitness Corps
was formed?

(1) Kunzru Committee

(2) Tarachand Committee

(3) Kaul Kapoor Committee

4) Yashpal Committee
Which one is not the quality of Physical
Education teacher?

(1) Upright character and high intellect

(2) Ethically inferior

(3) Commitment to the profession

4) Good physique

25,

26.

27.

28.

29,

Phy %

T & WR W SUAR &R Bl adel

3 _

(1) wEame fare

@2y fEdue Fare

() e Fare

@) T SR Ted §

S TG Rem IR A wif T8 22

1) ¥E IR AT § S99 2

(2) TS 95T ORI AN © SEER Y&l
=1

(3) adl u= P TEIET|

(@) IE BId ol § AN oW A e
31

“fered oflg & IrR<fde IO1 S9Ied AaER

@ it o1 T BT G S e S 1

g =g & —

1) ToF

(2) sifeud

3) wieq v

@ deEd

WRERY @ e ¥ GiRa Reh

s _

1 =

2 wws

3) diq

@ ogvs

@) Eue 9

=1 % § s INiRE Rien R a1 e
T8 87

(1) et ARF Td I gigmar

@ e wad =

B W B ufy ulkEg

4) 3BT INR Arsg
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30. Three statements are given — 30. < weH fag g § —
StatementI:  Lordotic  posture  is BT [ g IAET B B
characterized by an BrepiRer wyor § e @ grI
increase in the R fear smar 21
lumbosacral angle. T I:  UdgGwal (S Aulsed dd
Statement IL:  Scoliosis is a sagittal plane 2 fwgar 21
deformity. _ PO I[: F6E0€ F URd ahdT 9Rd
Statement II :  Lateral curvature in the e FEaT B
spine is called scoliosis. oy _ ‘
Choose the correct option - el S .
(1) All the statements are correct (1) ; P 5
(2) Only statement IT and I are correct 2) T 9 I 9 I el
(3) Oanly statement I and IIT are correct (3) Wud PuT 1T I e ¥
(4) Only statement I and II are correct @) I FT 1T e T
31. The total amount of work done in a training 31, URET § WU & B Feol A FEARI!
is- z -
(1) intensity of load (1) ¥R B e
(2) frequency of load (2) YR B IRERA
(3) volume of load (3) R & AET
(4) degree of load @) “R & R
32. Who acts as a Spokesman of the Intramural 32, SRS WA & ¥a&aT & T | S
Committee? BRI B 27
(1) Chairman (1) 3wEE
(2) Treasurer (2) e
(3) Assistant Secretary (3) YRS 9Rg
(4) Secretary @ akE
33. Supervision is an essential aspect of 33. UUdH®, WNIRE ReEm R Wogg # wEEH
management in Physical Education and Sports B & IIard Uge et © —
with -
(1) asingle motive @) THa AHHE
(2) multifarious function @ Ry o
(3) alimited objective @3) A sz
() varied policies (@) fafee g
34. Which Emperor banned the ancient Olympics 34. 59 IN® SN WEN fue @dl )
games? TiyEer ST TiRT?
(1) Nero 1 N
(2) Theodosius II @) PR o
(3) Theodosius I (3) RoeRe I
(4) Xing Edward @) T v
22- 1) Page 8 of 32




- s Bl
35. Which theory is not considered as Theory of 35. {&w Rigiv @ €@« @ Rigid & w9 4 =&l
Play? ST ST 87

(1) Experience Theory (1) 39a &1 i

(2) Surplus Energy Theory @) sfoRe st @ Reia

(3) Aanticipatory Theory 3) W;[ o1 Rigid

(4) Play is Life Theory @ T 9T &1 g

36. Match the following — 36. frfafad o gad B —
(D  Relaxation (i)  Herbert O BRiEeem @ g R
Theory Spencer Rrgia
(ID Recapitulation (i) G.P.W. » o9 firgia () <L WL .
Theory Patrick ® 3 yfew S
(i)  Aanticipatory (iii) Karl Groos PP
Theors (un uzﬁamﬁ?r_ (iify Ppret T
(IV) Surplus energy (iv) G. Stanley avy aTﬁ-TﬁT:K-r ool (v o e
Theory Hall o7 Rigia "&ﬁ?f
I o o Iv I o o IV

O @ Gv) @ O Q) G Gv) G @)

@ G G @ 0 @ G G @ 6

@ @ G @ O @ @) ) @ @

@ @) @) @) @ @) (i) (111) i) @

37. 'The total number of phalanges bones in 37. ¥Mg TR H Telow sf¥dl & B T&w
human body are - BT ® —

(1) 28bones (1) 28sfA

(2) 27 bones (2) 27 s

(3) 30 bones (3) 30sfEar

(4) 34 bones @ 34

38. The smallest contractile unit of skeletal 38. SFe Wi B Tod BIA AHaTlld SHE
muscle is - BT ® —

(1) fascicle 1) BRyPpa

(2) muscle fiber (2) U= g

(3) endomysium (3) TEMERREE

(4) perimysium @ RAEREw

39, Three statements are given — 39. O e Ry U R —

Statement-I Sagittal, frontal and -1 Joised, ed J dfoeid a9d
horizontal plane are called IR ol PEdd |
cardinal plane.

Statement-I  Transverse plane divides PUTIL ST q@ TR P F 7
the body into superior and fPrerel st 4 ffera v B |
inferior position. FIF-II T8 Holgcd ad S TRR Bl

Statement-ITT  The sagittal which divides WE O § SR UT H
the body into equal left and et oot
right halves called para e &
sagittal. PEAIC T |

Choose the correct option. - el fddey gy —

(1) All three statements are correct Q) T O T 9 €

(2) Only statement II is correct (2) PId B IS &

(3) Only statement Iis correct (3) daa HUE [HE &

(4) Only statements I and II are correct 4) Pad HU=T 191l GE &
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40.

41.

42.

43.

44. Competition is simply - 44.

Macro cycle is the - 40.

(1) smallest cycle of training
(2) medium duration of training
(3) largest cycle of training

(4) None of the above

What was the term of Pierre de Coubertinasa  41.

President of the IOC?
(1) 1896-1926
(2) 1896-1925
(3) 1897-1928
(4) 1898 -1928

Laws of Learning by Thorndike is - 42,

(1) Law of Readiness
(2) Law of Exercise
(3) Law of Effect

(4) All of the above

Which statement is not correct for operating 43.

budget?

(1) Remit all daily collections to the bank
immediately.

(2) Review the financial position from
time to time.

(3) No need to obtain written sanction
before spending money.

(4) Follow the standard procedure of
making purchases.

(1) alearning of social process

(2) a productive strategy for character
development

(3) essential for growth of individual

(4) essential for human development

AN & —

(1) uRE 1 wEE Biel I%

2 TlReEw o =59 IER

(3) uf¥Ew o 999 91 75

4) ST HF Pig T8l

L3N B 3T & wY F R © e

BT BB T &7

(1) 18961926

(2) 18961925

(3) 1897-1928

(4) 18981928

IFSE® @ e & Fa € -

(1) voRar &T |

) N & A

3) ™E & aH

(4) SR T4

goic IRETe & % DI B T8l T8l

2?

Q) i F dus T dF B el

2 i Rafy o go—Twg = THiEn
AT |

3) v =g T 9 g foag wigf
T B= DI Plg MALIRAT T8l |

@) HI F o NS FREE H
STERYT Tl |

yiafar SERe|ar § —

(1) v 4 ST 8 gHiS uihar

2) Rz fa & foay SaEs Rl
Q) w=fm & gg & o eraws
@) afdm & Rem & R e

45. The fastest period of growth in Human beings  45. ¥199 # ¥&9 I gfg o © —
is -
(1) Infancy (1) e
(2) Childhood (2) SreTaRen
(3) Adolescence (3) fuiRERen
(4) Puberty (4) IR amERer
22- ) Page 10 of 32




46. What is technique training percemtage of 46.

advanced training in team games?
1) 55%
2) 45%
3) 40%
@ 25%

47. Intramural program creates in students the 47.

sense of -

(a) mass participation

(b) selfishness

(c) enemity

(d) maximum involvement
Find the correct combination -

1) ab

{(2) b,d

(3) a,d

4 b,c

48. In darkness an individual can easily touch the 48.

nose by his finger, which sense helps in it?

(1) Kinesthetic sense
(2} Visual sense

(3) Vestibular apparatus
(4} Acoustic sense

49. What is the effect of massage on body parts?  49.

(1) Increase in skin temperature

(2) Bone strength

(3) Decreased accumulation of fatty tissue
(4) Both (1) and (3)

50. Three statements are given — 50.
Statement-I Immovable joint also
called Synarthrosis joint.
Statement-II Amphiarthrosis  is a
cartilaginous joint.
Statement-IIl  Synovial joint is
Diarthrosis joint.

Choose the correct option -
(1) Statement I and IT are correct
(2) Statement I and II are correct
(3) Statement II and III are correct
(4) All statements are correct

TS Wal # Sod URRIr §f i A
yicRIT T &7

1) 55%

Q) 45%

(3) 40%

4 25%
e FREHE B A gord SR
§_

(2) WFe® RGN &1

() Y B

(c) TFaT BI

(@ TR%HTH ARERY &1
wEl ST ey

1) ab

(2) b,d

(3) ad

@ b,c
IR ¥ P Afdd AT SR W SE W
AP DI B GEHAT &, Sl e TEFar Bl
z?

(1) fopar Oy

2 T

(3) TUiBIfeE SUBR

@) @ 9y
A & TRIR® N W P9 yeR @
ERICR | 1

(1) <= % WEE ¥ glg

(2) =izl § Ao

(3) T B B GUT B

@ ) E)EE

U4 ®eF R 7 € —

HUT—1 I G B SN
Yy 4 Beg 21

w1 RN, Switerm iy
Bl B

HUT-II  OEAaaa WY, Sy
Hfer gt 21

w8 e g —

D) Fad HI9 19 LHar &
(2) Poa FUF 1T I G &
() o Ho= I 9 I E8 &
@) i 91w 9 §

22- 1)
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51. During the organisation of Athletic Meet, 51.
what is the role of recorder?
(1) To maintain discipline
(2) To announce the result
(3) Maintain results and records
(4) Scoring
52. The most important quality of an effective 52.
teacher is -
(1) astrict disciplinarian
{2) a good motivator
(3) inadequate knowledge of subject
{4) good rapport with students
53. Lordosis is also called as - 53.
(1) backcurve
{2) round back
(3) hollow back
(4) lateral back

54. Two statements are given — 54,

Statement I Coupling ability is the
ability to coordinate body
part movement with one
another.

Statement IT Orientation ability is the
ability to achieve a high
level of fine tuning or
harmony of individual
movement phases and
body part movement.

Choose the correct option -

(1) Both the statements are correct

(2) Only statement I is correct

(3) Only statement II is correct

(4) Both the statements are incorrect

55. For effective administration the Physical 55.
Education teacher must possess -

(1) high qualification

(2) good personality

(3) technical knowledge and skill

(4) teaching ability only

56. Degree of effort being made by the sportsman ~ 56.
while doing an exercise is called.-
(1) load volume
(2) load intensity
(3) density of load
(4) frequency of load

Troifesd Hic & Ao & TRM, ReieR &
a7 fAHT Bl 87

(1) ST 999 G

(2) 9RO ¥ =Een ERA

3y uRumm v el o1 wEREn

@) e FA
T Y9! Red &1 e weage o7 § -

(1) T o IGaD

(2) 3TOT IR

(3) v o1 saiw 5=

@) BE B A W GEy

IAGHIT A T HEANT & —

1) 5 w4

(2) N dis

3) GEe die

4) <icvd 99

T He fag g § -

Tl g AT TP N © R
IR B I B ARl @
Ty B Al g

M I g IFaa S
o AfRE $ S| WX OB
el oYM AT WIREA @l
YT B B AFIT Bidl B

& T G —

1) <N P GE

(2) Bad FUH ITE ®

(3) aw PN I Hel 8

@ T P ad e R

I TR @ foY U IR REe &

91 B ARY —

(1) = G

(2) 3o Al

(3) TS THBRI T B

@) Ryw e awar

AT % SR Raerrsl g1 by o ¥e yard

P! AT HEARI & —

(1) ¥R JIMFaA

(2) YR dEar

(3) WR & T

@ W P gy
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57. Two statements are given —

Statement I A-band contains  the
Mpyosin filament.
Statement IT I-band contains only Actin
filament.
Choose the correct option -

(1) Statement Iis correct
(2) Statement II is correct
(3) Both the statements are correct

"

< B Ry MY € —
1 A—3ve # AORE O Biar 21

Fo O 1998 H dad gleed g B
=
& T gAY —

(1) od HIH [98 &
(2) Pda HUT IES &
3) <H B w9

(4) Both the statements are incorrect @ <=1 B o ©
fReT sifaiiom S ®foT e & 3Efy

P UTER] SUDRT BT ST ARY, FEA! B

58. The extra oxygen that must be used after a 58.
period of strenuous exercise is called -

(1) second wind 1) fedus g

(2) oxygen debt (2) RS =’or

(3) anaerobic capacity (3) Il &

(4) fatigue @ g

59. The ideal B.M.L for adults should be — 59. U% 9O Afdd BT MGy ALTHSTE.
(B.M.L) €T =1feq —

(1) 185t024.9 (1) 18.5% 24.9

(2) 165t022.38 (2) 1653 22.8

3 250t029.9 3) 25.0% 299

4 20510279 @) 205% 279

60. Two statements are given — 60. < wee Ry g § —

Statement I Acceleration speed is the YT 1 R e SRHaH HHT 3rafey
?;gl}zl'téum " Spe;gmnt?(.)? EB- .[%’rq aﬁm et Eﬁ m
maximum possible Y& Bt AT B &)

_ duration. _ P I TR o9 = wag #

Statement II Movement speed is the

ability to do a single THe T B wE $)
movement in minimum of Qar BT ]
time. _

Choose the correct option - g(_% WF g T 8

(1) Statement] is correct
(2) Statement IT is correct @ Hadl BT 198 2

(3) Both statements are correct 3) : Ejﬂ:f Eﬁgﬁ el Ag%
(4) Both statements are incorrect’ @) SO0 e
61. Paralympics games were earlier known as — 61. R Wd U 39 IE ¥ WH W
o?
(1) Panhellenic games (1) YTReE BT
(2) Disabled games 2 m(’_@ W
(3) Stoke Mandeville games R) wo i=fa da
(4) Spartakiad @) eifsars
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62. By which method the upper and lower partof 62, @9 9T fAfy g #iwush & S T A
the muscles are touched due to which blood AN B Gl Wil €, Y Yad 99
circulation increases? gedr &7

(1) Hand care manipulation method (1) HeaM & sH—od A
(2) Effleurage manipulation method Q) (R T-aEe AR
(3) Pressure manipulation method (3) TG P e AR
(4) Both (1) and (2) @ (T @) o

63. Extramural programs creates a feeling of 63. ST BRIBH BT F coorreeerroersemen

........................ in the students. AT U] ova B
(1) achievement Q) Suarss @t
(2) enjoyment (2) T B
(3) humour 3) TN By
(4) involvement (4 arier &

64. 400 meter sprint is an example of which type 64. 400 #eX & oW IS P9 WoR &

of endurance? TRl BT SaTeNy &7
(1) Short time endurance 1) ﬁm@q He2ierdr
(2) Medium time endurance (2) TEADICI ezt
(3) Long time endurance (3) SEiPrele TeTeer
(4) Speed endurance @) e SeTerr

65. Among the following what is the Principle of 65. /=1 & & witem @i @1 Rigia si=rar 82
Talent identification? 1) ¥R o wioen

(1) Progression of Load (2) =fsaar o1 Rigia
(2) Principle of Cyclicity @) R gfRaa @ Rigia
(3) Principle of ensuring results @ 9 UREE A ERET B SRS
(4) Less trainable factors should be given e a7 ST Ry
more weightage
66. Which one is not the major objective of 66. BT IFafderer UeARaRl o1 &=
extramural competitions? T TE 27
(1) Providing optimal opportunity to 1) e & e we A Rl o1
greater number of students for SR Td YRR & DI T el
acquiring the skill and art of organising B UG B D folY AN TR
and administering. YT B |
(2) To bring laurels to the institution by @) TG ool oo Ter B TW ATE
registering victory. . . HE|
3 To develop-bl:'othfarh(?od and friendship 3) wRME erel @ W 4 3
among paruc1pang -1nst1tut1_0ns. fire R e |
(4) To encourage social interaction among \
@) S B I GEIve IREREEar B
the teams. AT T |
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67. Match the following — 67. ffeRaa & femd —
(A) Technical (1)  To provide (A) <fFoa (1) <M@EFHAT B
Committee shifting wfafy e  u==
facilities B
(B Finance (2) Toresolvethe ®) R oy @y faE=
Committee dispute A
(9] Transpf)rt- (3) Todeal With (C) TR (3) @ @ T
Committee money & Ty F 2
expenditure - SRR .
(D) Publicity (4)  Advertise the D) ¥ Eﬁ” ﬁz R @ P P
Committee event . ‘ ayl
Code - -
me & o @ o9 99 gg
@ 6 @ O @ 3 (‘2) 3) (4 ' 2
@@ & @ O A7 S G K S
@ ®w e 0 o @B @ O ( ) _
68. The main part of budget in physical 68. ¥NIRG REN ¥ soc & W@ 9T & § —
education- a1 ™
(1) income 2 ==
(2) expenditure 3) fioa o &1 =7 g9
(3) last year savings @ ()TE ()=
4) Both (1) and (2)

69. Through warm up, the core temperature of the  69. @1 &g & ERT IR & SR qEEE 1°C
body increases by 1°C than basal metabolic 9T &, T9 I JTEIRE XE gedl § —
rate is increased by -

1 10% @) 10%
2 12% 2 12%
B3 14% 3 14%
4 18% 4 18%

70. Two statements are given — 70. < weF Ry g —

Statement-I Talent identification is a -1 R @ aisegR uithar
future oriented process. 2

Statement-II S?;rts :Tlt;nt 1(s1 a product ST i sk
of heredity an

. dIRITaRe] $T IS Bl & |
environment.
Choose the correct option - el BT g —

(1) Only statement I is correct (1) w9 Ho 9L B

(2) Only statement II is correct (2). @9a FAT LTS &

(3) Both statements are correct (3) T FuH gEr §

(4). Both statements are incorrect @ <N FUT Ted B
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71. Which ope of the following is the 71. = # ¥ Si=ar ADUR &1 ygei= @&
performance symptom of overload? g7

(1) Loss of weight (1) ToA ¥ RmEe

(2) Decreased contact with coach @) wREE P R s ¥ o

(3) Loss of sleep (3) e o1 oM

{4) Decrease in the ability to differentiate. @) g = T § B

72. Which of the following committee was 72. ‘S¥dl fhew oid & AR & fog @9
responsible for the creation of ‘National 4 gfafy Saver 27
Fitness Corps’?

(1) Kaul-Kapoor Committee 1) Sy Fﬁﬁr

(2) Ad-hoc Enquiry Committee (2) g% SE A

(3) University Grants Commission () fixafeene™ sgem sman

(4) Kunzru commifttee @) G Gl

73. The social process by which people interact 73. 9% GFISI® UEpdl @ gRT ANT 998
and behave in a group environment is called — TR § siafpar i wgErR o
HEelldl & —

(1) group dynamics (1) g e

(2) interaction () REREET

(3) socialization @3) GEENER

(4) tradition @) R

74. Three statements are given — 74. & wE Ry ¢ § -

Statement-I A good warm up prepares BYF-1 Th IOT dHeY ged e
the exerciser for efficient qifgersl vd BEEH CRCIGH
and safe functioning of the @ R od @ fag
heart, blood vessels and RS B IR BT B
lungs. POl TP ST diver AedfEl

Statement-IF A good warm up reduce I S o o WEr @ BE
fhfa amount of muscles and T &1
joint soreness. P S Ge 10-15 free

Statement - Il An acceptable warm-up .
would begin with 10-15 @ R & amm S
minutes stretching followed EICIC R NG
by 10-15 minutes high 10-15 fae @ S s
intensity activity. qrell Tafafr Sl

Choose the correct option - wel fdweT giHg —

(1) All three statements are correct 1) 4 9N P e €

(2) Only statement I and IT are correct (2) Dol HU 19 M EET &

(3) Only statement I and IIT are correct (3) Dad HUF U T I T &

(4) Only statement I and III are correct @) ael U 19 I e &
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75. Which component is related to health related  75. %l TCH WReY Wl URING <&l ¥
physical fitness? HefereT 87
(1) Speed (1 =
(2) Agility 2y TUeEl
(3) Flexibility @) e
{(4) Coordination @) |
76. When will be the first ime Youth Olympic 76. 3WHi®&T # Ysell IR g INaffdd € &9
Games were organised in Africa? SR B8R?
(1) 2024 (1) 2024
(2) 2026 (2) 2026
(3) 2028 3) 2028
(4) 2030 @ 2030
77. What is the other name of Speed Play 77. WiIe W fafYf %7 sy %9 M & ST ST
Method? 2?
(1) Interval Method (1) s Ay
(2) Repetition Method () YR
(3) Fartlek Method @) wEds AR
(4) All of the above @ ST i
78. What is a dynamometer used for? 78. SRVHIMIER B SUANT {Fas forw gem 87
(1) Measurement to heart capacity (1) TSI & OIHd BT AT
(2) Measurement to fiexibility (2) QU BT qUT
(3) Measurement back and leg strength (3) 95 vd R & qwT B AT
(4) measurement to endurance (4) TETEieET BT A
79. The steps in constructing a budget are - 79. oic fET & TRV 59 UK § —
I Collecting the necessary information.. I e EH T UHa BT |
I  Classifying the information. 0 I B FhoT BT
IIT Presenting and adopting the budget. O §oic 3 TEd T TS BT |
Choose the correct option - W& fiwer gfiw —
(1) Oaly step II and III are correct (1) Saer =eor O 9 1T e &
(2) Only step I and TII are correct (2) @ =or I IO oer &
(3 Only step I and II are correct 3) Daad=RTITIFE B
(4) Al steps are correct @) TEE W WE o
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80. Match the following — 80.
(I}  Subscapularis (i) Bentover
lateral raises.
(II) Rectus (ii) Knee extension
Abdominis
() Rectus (iii) Dumbbell
Femoris internal
rotation
(IV} Posterior (iv) Twists
Deltoid

I I m v

(I G 3G G @

@ O G @) a6

@ v @ ) >

@ @ d) G @

81. Two statements are given — 81.

StatementI: Physical Education teacher
should feel responsible for
building up character and
personality of each of the
student.

Statement Il : Physical Education teacher
should prepare students for
shouldering social
responsibility.

Choose the correct option -

(1) Only statement I is correct

(2) Only statement II is correct

(3) Both statements are correct

(4) Both statements are incorrect

82. By whom and when was the Harvard step test  82.
created?

(1) Thomas, 1940

(2) Brouha, 1943

(3) Herre, 1948

{4) Brunt, 1943

83. The longest period of Periodization is - 83.
(1) preparatory period
(2) competition period
(3) transitional period
(4) functional period

84. Which vein drains blood from liver? 84.

(1) Hepatic
(2) Renal
(3) Gastric
4) Tiac

frrafaRad & gie PRT —
O ESBYaR"E (@ T AR
ERCRSE
(D) aeH Gi) Y TeudEE
TR

(D) T4 (i) SN
faRe ERaalc|
I

(IV) ueg sE  (iv) cfiw

I oI m IV

1 Gi) G G @

2 @ @Gv) G 3G

@) Gv) @ G i)

@ G @D G @)

gl P Ry g § —

FeE [ IRIRE Ren RBrw o e
et § oy W afka
ferg = forg SRRl srga
HeAT 1RV |

weE I: TNIRE Brer Ree @
et v aniee
UG SeM & forw R
HRAT FTRT |

el fawed gy —

(1) ad HU= 1 GE &

(2) D HuT I e &

3) TH wUT O €

@ T FUH e €

Ths WO TV fhad gRT 9 $¢ Hfg

Tar Tr?

(1) =Fg, 1940

(2) 9=, 1943

(3 T 1948

@ g 1943

faRdeESE™ & a9 o9 3El I & —

(1) SOFEAF B

) wfafear srer

3) dsmifa w1

@) TrEE oI

IHd ¥ B W RRT W & N (§9)

BT 8P

1O s

2 o

(@) iRgs

@ sfewes
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85. Theory of Psycho-analysis was given by - 85.

(1) John Dewey

(2) Sigmund Freud

(3) William McDougall
(4) Lord Kames

86. Long term sports training process involves 86.

following stages.—
(a) Basic training
(b) Training for high performance
(¢) Training for maintaining performance
(d) Advanced training
Arrange in proper sequential phase -
B @ @© @O O
@ b @ @ @@
@ @ @ o ©
@ @ @O @@ O

87. Advantages of inter-school sports are — 87.

(a) Development of proficiency in skills
(b) Over emphasis on winning
(c) Less emphasis on mass participation
(d) Development of high level of physical
fitness
Find the correct combination -
1) ab
(2) b,c
3 ad
4 b,d

88. Which testing may be performed by assessing  88.

the muscle tension generated throughout a
range of motion at a constant angular
velocity?

(1) Isotonic testing

(2) Isometric testing:

(3) Isokinetic testing

(4) Cardiovascular testing

FfoTeryer Rygia far T —

(1) W S

2) RrFe wIs

(3) ffma dwsima

@) i€ o=

A @y @ ulmer ufhar § fa=fafeaw
T B § —

(@) IR ulkEo

() ST yGaIE & fory wieor

(¢) YREM DI SEIY @ ©g T

(d) S ufderor

STRITT =R BT FaRed Haeg IRy —

M @ @ @ W ‘
@b & © O
G @ @ m @© |
@ © b @ @
IFRIgEe™ T @ ore § —

(@ PiEe YA &1 e

() N ) JEF TR

(c) WMES IRERI W &9 R

(d) S=o IRRF T &1 e

e il gl

1 ab

(2) b,c

3) a,d

4 b,d

R @l 1 w® 1Y & 7R § sae
AR & T[T BT AET RS Bl
TRIEVT T S awar 87

(1) erEaRE e
2) SrEEEigE wWiE
(3) STEHPRARE TR
@ TEganTEr W
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89. Which one is not related to Principle of Sports  89. 71 # & @ivrar Tey wfer™r &1 Rigia Tl
Training? a?
(1) Principle of Cyclicity (1) =l & RIgid
(2) Principle of Planned and Systematic (2) Trfyg v ogaferd ulSemr @
Training Rigia
3) Pr%nc%pl‘e of Relaxati(-m (3) Rl o1 Rieid
(4) Principle of Progression of Load @) WR B TR 1 Rt
90. How many periods comes under 90. 3@ Fleidar & ad fbay Pl K
periodization? g?
1 6 @ 6
2 5 2 5
3 3 3 3
@ 8 @ 8
91. Who said it that, “Adolescence is an age of 91. U8 e Fel & “faeiRgwr 9gq g9 9
great stress & strain and storm & strife”™? e SR qem 9 dad 3 sewer 27
(1) Lord Kames 1) <iS v
(2) G. Stanley Hall (2) <. w9 g
(4) Sigmund Freud @) Rrris vHe
92. Demonstration, an aspect of command 92. yez, «ifew faf @ v EE P W9 A oI
method is known as - T & —
(1) learning speed (1) <R 3ot
(2) show-off potential (2) &l g
(3) precision and directness ) TEFar AR yegeEr
(4) eyetoeye contact @) it ¥ s ferr
93. Two statements are given — 93, T FAARTICE —
Statement-T The best way to accomplish Foe—]  WIeBRT B Ul H daraT
cool down is to slowly WD Gea2iiedT oy <@
reduce the intensity of the Jierer B TH FET 2
endurance activity. FI— TETEieIdT O] O B 'q'gin?[
Statement-II Stopping abruptly after an 1 AT vF W o
endurance exercise, AR ww 9 E‘N‘H
catecholamine level might R
be elevated during the S IR A A
immediate recovery period. s
Choose the correct option - Eﬁeﬁi g -
(1). Oanly statement I is correct @) P I HEl §
(2) Only statement II is correct @ d;aa_‘ BT I1¥ET §
(3) Both statements are correct (3) <Ff FoF WE §
(4) Both statements are incorrect @ T B OE e E
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94. Two statements are given — 94, | FHoA feg g E —
Statement I:  Biceps curl is an example of T [ IEUS Hel gArg SO Sulad
class 3 lever. BT Th SEIET & |
Statement I : Triceps extension is an we II:  Tew vadeyd fgdm 9w
example of class 2 lever. IAIEF T TF SEENTT &1
Choose the correct option - e B gihg —
(1) Only statement II is correct (1) ad HI9 I 981 &
(2) Only statement I is correct. 2 PaAFEITE T
(3) Both the statements are correct 3) B BUF 9 §
(4) Both the statements are incorrect @ TH BY I|E €
95. ‘Which of the following is a characteristic of 95. /= # ¥ @9 I S=g wezH ulwor &0
high performance training? faomar 27
(1) Very high training load (1) 957 Sog e 4R
(2) More use of special exercise 2 fitre T o dE SR
(3) Less competition (3) o9 wREfan
(4) No periodization @ T s I8
96. The venue for the “Hockey World Cup, 2023  96. “9o¥ 8% {dTq &4, 2023 ARG 8F°T —
for men” -
(1) Rourkela and Cuttack (1) ISEHAl T HED
(2) Bhubaneswar and Cuitack ) ﬂq-ri‘zq{ q heh
(3) New Delhi and Lucknow @) =% fieell 9 wETs
(4) Bhubaneswar and Rourkela @) -ﬂaﬁqa? T ISl
97. At apenalty stroke, time is stopped when — 97. UcSl W% W, <A W@ T3 S € —
(1) the offence occurs (1) <iE DY BT B
(2) the umpire awards the stroke (2) 9 YRR TP <l §
3) Pad V¥ IICHT SN MeTBHIN gL
(3) only when both attacker and goal _
AR B 2
keeper are ready 4) o MR TP o & iy T
(4) attacker is ready to take stroke EGIRS
98. Full form of JCR test is - 98. OISR, THETT HT IO WHY B —
(1) Jog, Crunch, Reach (D) S, @, O
(2) Jump, Chin, Run 2 < fTm =
(3) Javelin, Crawling, Roping (3) “rafem, wifeT, AT
(4) Jumping, Cresting, Running @) i SReT T
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99, Famous penalty cormer specialist Flors 99. URE T &Rk fAR0vs TIRY dideis
Bovelander belongs to - & Heyg § —
(1) Holland 1) eids
(2) Australia ) Sl
(3) Argentina (3) ST
(4) Germany @)
100. What is the name of the first mobile app of 100. < TE—IIT Toiel & gl AESS U
National Anti-Doping agency? P 9 9497 &°
(1) Healthy India 1) ool SfEar
(2) Nada India ) =rer sfeam
(3) Indian Andop G3) =RT &
(4) Indian Doping @ =R SftT
101. The distance between two broken lines outside 101. YT ¥dhal & a6 T SIBT iEAl © §d
the shooting circles — P o B R -
(1) 30cm (1 3099
(2) 3 meters (2) 39cx
(3) 19.63 meters. (3) 19.63 ¥iex
4) 14.63 meters @) 14.63 6
102. “Fit hai to hit hai India” is a program lannched 102. “foe & @1 fec T SfEUr” odww fHas
for the fitness of - fre=w & ford oo fawar T 87
(1) College students (1) Dies 3 BEl
(2) School students Q) o+ BE
(3) Senior citizens (3) aR< AFTRe!
(4) Women’s only 4) Daa AR
103. How does a Goalkeeper have to position 103. Uweel Wik & 9919 BN GHY Y TH
himself when defending a penalty stroke? MABIR G BT TSI BT 3¢
(1) With both the feet on the goal line (1) 7iid g9 W S U%1 P eI
(2) With both the feet behind the goal line @) N @R @ 98 e W) P uer
(3) With both the feet just in front of the (3) T aET & O I o N B
goal line e
(4) Atleast one leg on the goal line @ T T W 9 T R
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104. The process of breaking a tie by 11 players of 104. 11 Raenfeal & v uer arel, 2a! i T 89
one — sided Hockey match leading to a draw is W TR dred @ Ul &Rd ¥, B e
called — ¥_

(1) Penalty shoot — out N 7T ATSE

(2) Penalty stroke Q) T 'S

(3) Challenge shoot — out @) R T ST

(4) Challenges @) e ()
105. The length of Hockey field is - 105. gid F5E o TN | —

(1) 91.40 yards (1) 914079

(2) 89.40 meters (2) 89.40 X

(3) 91.60 meters (3) 91.60 Hiex

(4) 91.40 meters 4 9140 Hex

106. The longer perimeter edges of the Hockey field 106. TfaT A3 @ <igdq g &1 wwamcl
is known as - T -

(1) Side line (1) WEs «igd
(2) Backline (2) IF @i
(3) Goalline (3) T oA
(4) Centre line @) X e

107. Which nation has been crowned as Hockey 107. %M &1 <% &, o9 81ah &1 fizgey =

World Champion for 4 times? = Siar?
1) India @ wRa
(2) Pakistan (2) ulfew™
(3) Avustralia 3) aﬁw
(4) Netherland @) “exeve

108. The “Best Hockey Player” declared by the 108. RIS aid! #e™d gRT 98 2019 #,

International Hockey Federation in 2019 is - "I9S gl Raersl” eifd fean 4 a—
() PR Srecjesh (GK) @ D Ao (Te)
(2) Manpreet Singh (2) = R
(3) Baljeet Singh () T Rig
(4) Harmanpreet Singh @) e Rig
109. The back-line between the goal-posts isknown 109. el URE & &1 B 3% ST DI aUT Pal
as - ST 57
(1) back line (1) P oET
(2) goal line (2) A ABA
(3) sideline (3) wES aEd
(4) center goal line @) <ex — et
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110. The weight of the hockey ball shall be - 110. BE F TG BT THT v BT AR
(1) 136 - 143 grams 1) 136- 1437
(2) 0.225kg @) 0225 feamum
(3) 146153 grams (3) 146—153 g7
(4) 156 —~ 163 grams (4) 156 — 163 ™
111. The “Bully” may not be played within - 111. 379 “geil” <] et S |l & —
(1) only inside the circle 1) Tad Iod D IFaL
(2) 5 metres from the back-line 2 99 @ @ 9 59
(3) 10 metres from the back-line (3) NS & & F 10 Hiex
(4) 15 metres from the back-line @ O A XY 159
112. What is the “Length” and “Weight” of a 112. T Red & “o=E’ @ "qu=” fea
Hockey stick? BT ATfR?
(1) More than 737 grams and length 105cm D) <fSw § e 737 9 ik aw=TE
(Measuring from top to handle) 105944, (S ¥ S 9@ )
(2) More than 637 grams and length 102cm (2) =% ¥ T 637 UM iR owTs
(Measuring from top to handle) 102 9AL (B ¥ fed 9@ AE)
(3) More than 657 grams and length 107cm 3 % ¥ ARF 657 I IR TRE
(Measuring from top to handle) 107 9. (GR ¥ g G HYH)
(4) More than 746 grams and length 109cm @) IEH F ANF 746 TH SR FRE
(Measuring from top to handle) 109 €A, (FR | T TP AI)
113. When and where was Women Hockey included 113, &< gia! @ aiicifi® Wall § #4 ) Bal
in Olympic Games? e T ?
(1) Tokyo Olympics, 1964 (1) < defies, 1964
(2) Mexico Olympics, 1968 (2) HFEHT sieiftad, 1968
(3) Munich Olympics, 1972 A3) p_-ﬂe,@ aNeife, 1972
4) Moscow Olympics, 1980 @) Hir sieifes, 1980
114. The duration of “Break” between 1% and 114. vUeel 3R TR Tk @ d9 7 “fRm” &
27 quarter is - Il & —
(1) 5 minutes @) sfe
(2) 10 minutes 2 10fFEe
(3) 2 minutes (3 2f8e
(@) 1 minute @ 1fFe
115. Who is the specialist in penalty comer attack? 115, U¥iee! BivR @ & fORs =9 &7
(1) Goalkeeper (1) VPR
(2) Dasher (2) S
(3) Injector 3) Foigex
(4) Drag flicker @ S Rems
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116. During Hockey match the ball is stuck in the 116. giet 9 & R, If¥ dfet MepiR & “Te”
goalkeeper “Pad”, from where the game will H Y TR Al ¥d Y AIR9 B BAY
re-start? QO WD IR A RN

(1) A hit from outside the “D” (2) ol ERT 159X el @189 @ ST
(2) Bully in front of 15m goal line g3l

(3) Centre pass (3) J==X UM ERT

(4) Hit from the side line @ s a9 fEe g

117. The recipient of Dronacharya award in hockey 117. €@ # giomard R¥DPR UITHar 8 —

is -
(1) MK. Kaushik 1 TP FIRSG
(2) Harendra Singh @ % e
(3) Merzban Patel () YN U
@) All(1), (2)and (3) @ i (1), )R 3)
118. Penalty shootout time in Hockey is - 118. el # It YE =T T 9T § —
(1) 10 second 1) 10%Evs
(2) 12 second 2 123=7s
(3) 13 second 3 1395
(4) 8 second @) 8o

119. The player that does the push on a penalty 119. I8 TS W 9] B W Y B

corner - g -
(1) Trapper 1) TR
(2) Stopper (2) R
(3) Injector (3) SN
(4) Hitter @) Rex

120. Which male hockey player was given the first 120. U8l Jo¥ 3G YLHR {59 8la Raars

Arjuna Award and in which year? 31 & T qRr e ad?
(1) Prithipal Singh - 1961 (1) Teda Rig —1961
(2) Harmeek Singh - 1959 2 T Rig — 1959
(3) Tajender Singh — 1963 (3) oorg Riz — 1963
(4) Mohammad Shahid — 1970 @ HEEE WiRe — 1970

121. When does a hockey player go to the penalty 121. Ei®! RaaT<! Uiee! iy H He oaT 87
box? () T RSt @1 A o o &

(1) When he gets injured (2) <ig RIS B = B R
G
(2) 'When he gets a green card @) wE faerd 3 ST B R
(3) When he gets yellow card QT B
@) vE Reas & a9 B8
(4) When he gets a red card
KIGIR
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122. In which year and where FIH. was 122. UGEIAETE. & WO &y 3R Eb%‘T 5‘5‘
founded? 7
(1) 7 February, 1922, Paris, France (1) 7 wE, 1922, URE, wig
(2) 14 January, 1934, Mexico (2) 14 SR, 1934, ARaH
(3) 8 March, 1924, Munich @) s, 1924, =P
(4) 7 January, 1924, Paris, France @) 7, 1924, A, i
123. When and where men hockey was included in 123, 3ficifde® =ail 1, T Blal B! Yoard f&d
Olympic games? ¥ ¥ Sl Bl gS7
(1) Amsterdam 1928 (1) T=esH 1928
(2) Berlin 1936 (2) «f1936
(3) London 1948 (3) wiT 1948
(4) London 1908 @) e 1908
124. Who is known as the father of hockey in world 124, fizg e ¥ 59 “wrax offw ga & I9
hockey? ¥ T A E?
(1) Major Dhyan Chand M Ao e
(2) Captain James Sutherland ) FT TR TS
(3) Balbir Singh (3) 9ER e
(4) Ric Charlesworth @ Re wrevod
125. Where and when Indian Hockey Federation 125. ST Sl B o1 I B3l iR &9
was formed? ge o7
(1) Gwalior, 7 November, 1925 (1) TaOIfeRR, 7 7EwR, 1925
(2) Mumbai, 16 September, 1940 2 ﬂ"'él?z; 16 Ry, 1940
(3) Delhi, 20 August, 1938 (3) e, 20 aFRa, 1938
(4) Madras (T.N.) 24 November, 1927 @) =T (ﬁﬁ?l:r@ 24 TR, 1927
126. The Captain of Indian Women Hockey team in 126, &IAS door IR 2022 ¥, WA AR Bih
Commonwealth Games, 2022 was - 9 B T off —
(1) Savita Punia (1) =i Eﬁm
(2) Rani Rampal 2y T TAUE
(3) Sushila Chanu @) g am
(4) Saba Anjum @) wE s
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127. When and where has India won its first gold 127. 3l@ifi® Wal § 9RT = Biel # Uganl w@v
medal in Hockey in the Olympic Games? Ug®H HY AR Bl oiar o7
(1) In 1928, Amsterdam (1) 1928 woesH 4
(2) In 1908, London (2) 1908 g oy
(3) In 1924, Barcelona (3) 1924 g #
(4) In 1918, Helsinki @ 1918 ¥R &
128. The shorter perimeter edges of the hockey field 128. ®f@I ASM &Y BT URAMI Y@ HEAT
is known as - & —
(1) Side line 1) <SS
(2y Backline. 2 & o
(3) Goal line @3) e EH
4) 23 mline 4 23R @A
129. FIH headquarters is located in - 129. UEIMETE. g™ Red & —
(1) London, England (1) <gE, §evs
(2) Lausanne, Switzerland 2) @Tﬁr Racaeis
(3) Tokyo, Japan (3 <, S
(4) New Delhi, India @ = fEeh, uRa
130. Which country hosts the Sultan Azlan Shah 130. Y& Iel ¥ il ¢AMe fFy o
hockey tournament? BRI ST far oier 87

(1) Pakistan (1) e

(2) Malaysia (2) HalRrr

(3) Japan () Sue

(4) Singapore @ R

131. The diameter of the penalty spot is - 131. YeT wic & ON ¥ —

1) 640m 1) 6409

2 150 mm @) 150 R

(@) 75mm (3 75fA.

@ 120 mm @) 120 fa#,

132. What is the length of the small lines on each 132: 35 Hie @R 10 Alcy | N & <M1 &)
back line on both side of the goal at 5 metres T YUY Y W B g Bl aHE
and 10 metres “from the outer edge of the Py i Ue @ 96l [ | faa=t
nearer goal —post”? B &2

(1) 30 inches 1) 302"

(2) 3 meter @ 3%¥ex

(3} 300 mm (3) 300 fa,

@) 12em @ 1294,
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133. In which situation a goal-keeper must not take 133, & gRReIft # M IR o #= § fe=w
part in the match? & o= fee?
(1) Outside the 23 metres area they are (1) 919+ &7 8% & 23 9lex & s
defending
2) & B T T
(2} Outside the half-court (centre-line) @y S e & _ $ R
they are defending () I T & @ YT Wb @
(3) Outside the shooting circle they are e
defending o
4) 23¥R ~ o
(4) Inside the 23 metres area they are @ ST IRt 91 w
defending ¥
134. The attacker taking the penalty corner push or 134, 313 dfeRy &1 Raatsl Y-iee] B} JHas
hit from the back-line must have - kil =T 3R féc o 8, 99 —
(1) atleast one foot inside the field (1) UF R UES F HER B AMRT
(2) both foot inside the field @ SR INS F ofe ARy
o () 9 B9 TE R USS B AR
(3) atleast one foot outside the field BT TR
(4) All the above (1), (2) and (3) correct @ TE =l (), (@R 3) 9§
135. The shooting circle in a Hockey field is - 135. g » e[ ¥ YT 9hd o—
(1) 16 yd. from the baseline (14.63 m) (1) 16757 MR X@T 9 14.63 HIex
(2) 18 yd. from the baseline (16.70 m) (2) 1873791 IR W& 9 16.70 Ay
136. Is the attacker permitted to intentionally enter 136. I 3CHT NISEECAY A WRgdr @ Mo ®
the goal of their opponent? IT PY FHal 87
(1) Sometimes 1) Hf—md
(2) Yes 2 il
(4) Yes, only during penalty corner @) T Paa T PR D SRE
137. A move used by player to take a legal lifted 137. USice! BFRX & TR Id WR Tl W9 9
shot on goal during penalty corner — fore fpe w3 dife @ o @ v v Raars!
&R1 & H foram e © —
(1) drag push (1) ST
(2)  hit @ fe
(3) drag flick (3) 3 e
(4) scoop @
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138. The originator of modern hockey game is - 138.

6y
@)
3

@

139. When can a player change his hockey stick 139.

India
England
Malaysia
Pakistan

while taking a penalty stroke?

IFF B! Wl BT oAl § —
(1) ¥R«

2) swvs

(3) HlRmn

@) R

il Re®w 98 Hoar 87

(1) Yes any time (1) = & A v
(2) No his own stick to be used (2) =i 9T B Rew 9§ & o
(3) To take substitute player’s stick any &
@) s d9 % Raerst I 2 Rewd
time w4 A
(4) To take goalkeeper stick anytime @) TEPR @ S ReF T o
140. What is the name of the world’s first Hockey 140. %9 @ Usol 89 Told &l T o &7
Club? (1) <od v AR A w9
(1) Blackheath Rugby and Hockey Club
(2) Parsi Gymkhana Club, India (Hockey ) IR RFEET 7od, R (@
(3 Cosco Club, Moscow (Basketball T
Rugby) (3) DIl T, WDl (dipcdrd W)
(4) New Star, Germany @) ¥ €R, T
141. When a penalty corner is awarded, the time is  141. Jec] BN A W W FIT BT oo,
stopped for - AT ST 31
(1) 303Seconds 1) 30%@s o fog
(2) 20 Seconds ) 209 P forg
(3) 45 Seconds 3) 453%s o fow
(4) 40 Seconds @ 403ws 3 B
142. The maximum and minimum number of 142. TP g A ‘A <A & Raenfsal
players required from both teams required at P Td <Fa9 W, S g A9 B
the beginning of the match is - o BN UN IO F & —
1 22 1 22
2) 11 2 11
3 20 @) 20
@) 18 @ 18
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143. What is the maximum size of the Hockey goal 143. B[ Tidl “GIRE & =€’ & Gl &7 IHad
“Net mesh”? HY foea=r Blar &7
(1) 50 mm (1) 50mm
(2) 35mm (2) 35mm
3) 30mm (3) 30mm
4) 45mm 4) 45mm
144. What is the name of International Hockey 144, 3RS Bl AENE $ ARG FAMER
Federation monthly newsletter? Ui FT /T AH 22
(1) The Hockey Times (1) < <P <=
(2) Hockey Pulse Q) = v
(3) Hockey Telegraph 3) T
(4) The Hockey Journal @) T e o
145. How many broken lines or dotted lines are 145. T HaM & U6 TG W fhawil Sid aig
there on one side of the Hockey field? 1 fieR g+ SR &7
(1 18 (1) 18
@ 19 (2 19
3 20 3) 20
@ 17 @ 17
146. The duration of minimum suspension periodof 146. % Rgens) & Gl o @M & SWia
the player who is shown yellow card is - T Frele= <@l & —
(1) 4 minutes Q) 4f8e
(2) 10 minutes (2 10fFe
(3) 5 minutes @) 5fFe
@) 2 minntes @ 2fre
147. The format of Hockey competitions in Olympic  147. 3ficifde® Tall § S SRR $1 $ivAe
Games is - g -
(1) League (1) T
(2) Knock-out 2 e — amse
(3) Knock — out cum league () i — ST BH AN
(4) League cum knock — out 4) < HH SiE — A8
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148. The height of the Flag — Posts in Hockey field
COIners are -
(1) between 1.20 to 1.50 metres
(2) 1.20 metres
(3) 1.50 metres
(4) 4.00 feet

149. The terminology “3D” skiils means -
(1) lifting the ball of the ground
(2) tackling
(3) interception

4) goal

150. Name a hockey player who has the unique
distinction of representing his country in four
Olympics, winning three “Gold” and a
“Silver” -

(1) Major Dhyan Chand
(2) Sr. Balbir Singh
(3) Leslie Claudius

() .Ajeet Pal Singh

148.

149.

150.

B 499 & (IRl X oM 9Tel §US| Bl
SAE BRI § —

(I 1209 1509 & €7

@) 1209

3) 1.509kx

4) 4.00%c
IR “3D” DI P AdeT & —

(1) df B INS ¥ IS

2) THferT

(3) ST

@

TF Bl Raars! @1 AW gy R 9R
Shasy e Ui & &1 oFer Wikg
u<T far & —

(1) TR &M 9]

@2) ¥R gadk Ris

(3) oI FATSTH

4) sl e Rig
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